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QUESTION 1

Your customer uses the dynamic availability check for stock material. Where does the system check material availability
for an operation?

A. In all plants where material inventory exists

B. Only in the plant where the material has been reserved

C. Only in the plant where the material is flagged with the special stock indicator for maintenance stock
D. In all plants where the material is managed with serial numbers

Correct Answer: B

QUESTION 2
Response:

A. Warranty header
B. Warranty items
C. Warranty counter
D. Warranty cards
E. Warranty cells

Correct Answer: ABC

QUESTION 3

In order costing configuration, for what is the allocation structure used?

A. To provide a method of consolidating costs in the Plant Maintenance Information System
B. To allocate costs to a hierarchy of maintenance technical objects

C. To determine the cost elements that are allowed in the plant maintenance order

D. To determine the settlement receMng elements for costs debited to the order

Correct Answer: D

QUESTION 4

Which scheduling parameter adjusts the cycle intervals of a maintenance strategy for each maintenance plan?
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A. The call horizon

B. The early and late shift factors
C. The early and late tolerance
D. The cycle modification factor

Correct Answer: D

QUESTION 5

What are the prerequisites for the calculation of planned costs in an order? (Choose three)

A. The order operations must have a control key with the Costing indicator set in Customizing.

B. The user must save the order or execute the Determine costs function.

C. The cost elements must be assigned to the order type in Customizing.

D. A costing variant for planned costs must be assigned to the order type in Customizing for order types.
E. The costing indicator must be set in Customizing for order types.

Correct Answer. ABD
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